
 
𝑷𝒓𝒐𝒗𝒆 𝒕𝒉𝒂𝒕  

∫
𝐥𝐧(𝒙)(𝟏 + 𝐥𝐧(𝒙) + 𝐥𝐧(𝟏 − 𝒙))

𝟏 + 𝒙𝟐

𝟏

𝟎

𝒅𝒙 =
𝟏

𝟔𝟒
(𝟕𝝅𝟑 + 𝟒𝝅𝒍𝒏𝟐(𝟐) − 𝟔𝟒𝑮− 𝟔𝟒𝑰𝒎{𝑳𝒊𝟑(𝟏 + 𝒊)}) 

Proposed by Abbaszade Yusif-Azerbaijan 

Solution by Amin Hajiyev-Azerbaijan 

𝜴 = ∫
𝐥𝐧(𝒙)(𝟏 + 𝐥𝐧(𝒙) + 𝐥𝐧(𝟏 − 𝒙))

𝟏 + 𝒙𝟐
𝒅𝒙

𝟏

𝟎

=∫
𝐥𝐧(𝒙)

𝟏 + 𝒙𝟐
𝒅𝒙 + ∫

𝒍𝒏𝟐(𝒙)

𝟏 + 𝒙𝟐
𝒅𝒙 + ∫

𝐥𝐧(𝒙)𝐥𝐧(𝟏 − 𝒙)

𝟏 + 𝒙𝟐
𝒅𝒙

𝟏

𝟎

𝟏

𝟎

𝟏

𝟎

=𝜴𝟏 + 𝜴𝟐 + 𝜴𝟑 

𝑵𝒐𝒕𝒆: 

{ ∫
𝐥𝐧𝒌(𝒙)

𝟏 + 𝒙𝟐

𝟏

𝟎

𝒅𝒙 = ∑(−𝟏)𝒏∫ 𝒙𝟐𝒏 𝐥𝐧𝒌(𝒙)
𝟏

𝟎

𝒅𝒙

∞

𝒏=𝟎

= (−𝟏)𝒌𝒌!∑
(−𝟏)𝒏

(𝟐𝒏 + 𝟏)𝒌+𝟏

∞

𝒏=𝟎

= (−𝟏)𝒌𝒌! 𝜷(𝒌 + 𝟏)} 

𝜴𝟏 = ∫
𝐥𝐧(𝒙)

𝟏 + 𝒙𝟐
𝒅𝒙 = −𝜷(𝟐) = −𝑮; 𝜴𝟐 = ∫

𝒍𝒏𝟐(𝒙)

𝟏 + 𝒙𝟐
𝒅𝒙 = 𝟐𝜷(𝟑) =

𝝅𝟑

𝟏𝟔

𝟏

𝟎

𝟏

𝟎

 

𝜴𝟑 = ∫
𝐥𝐧(𝒙)𝐥𝐧(𝟏 − 𝒙)

𝟏 + 𝒙𝟐
𝒅𝒙,

𝟏

𝟎

 𝜴𝟑(𝒂) = ∫
𝐥𝐧(𝒙)𝐥𝐧(𝟏 − 𝒂𝒙)

𝟏 + 𝒙𝟐
𝒅𝒙,

𝟏

𝟎

 {𝜴𝟑(𝟏) = 𝜴𝟑, 𝜴𝟑(𝟎) = 𝟎} 

𝒅

𝒅𝒂
𝜴𝟑(𝒂) =

𝒅

𝒅𝒂
∫

𝐥𝐧(𝒙)𝐥𝐧(𝟏 − 𝒂𝒙)

𝟏 + 𝒙𝟐
𝒅𝒙

𝟏

𝟎

= ∫
𝒙𝒍𝒏(𝒙)

(𝒂𝒙 − 𝟏)(𝟏 + 𝒙𝟐)
𝒅𝒙

𝟏

𝟎

= 

=
𝒂

𝟏+ 𝒂𝟐
∫

𝐥𝐧(𝒙)

𝟏 + 𝒙𝟐
𝒅𝒙

𝟏

𝟎

−
𝟏

𝟏+ 𝒂𝟐
∫

𝒙𝒍𝒏(𝒙)

𝟏 + 𝒙𝟐
𝒅𝒙

𝟏

𝟎

−
𝒂

𝟏 + 𝒂𝟐
∫

𝐥𝐧(𝒙)

𝟏 − 𝒂𝒙
𝒅𝒙

𝟏

𝟎

= 

= −
𝒂𝜷(𝟐)

𝟏 + 𝒂𝟐
+

𝟏

𝟏 + 𝒂𝟐
∑

(−𝟏)𝒏

(𝟐𝒏 + 𝟐)𝟐

∞

𝒏=𝟎

−
𝒂

𝟏 + 𝒂𝟐
∑𝒂𝒏∫ 𝒙𝒏𝐥𝐧(𝒙)𝒅𝒙

𝟏

𝟎

=

∞

𝒏=𝟎

 

= −
𝒂𝑮

𝟏 + 𝒂𝟐
+

𝜼(𝟐)

𝟒(𝟏 + 𝒂𝟐)
+

𝒂

𝟏 + 𝒂𝟐
∑

𝒂𝒏

(𝒏 + 𝟏)𝟐
= −

𝒂𝑮

𝟏+ 𝒂𝟐
+

𝝅𝟐

𝟒𝟖(𝟏+ 𝒂𝟐)

∞

𝒏=𝟎

+
𝑳𝒊𝟐(𝒂)

𝟏 + 𝒂𝟐
 

𝜴𝟑 =
𝝅𝟐

𝟒𝟖
∫

𝟏

𝟏 + 𝒂𝟐
𝒅𝒂

𝟏

𝟎

+∫
𝑳𝒊𝟐(𝒂)

𝟏 + 𝒂𝟐
𝒅𝒂− 𝑮∫

𝒂

𝟏 + 𝒂𝟐
𝒅𝒂

𝟏

𝟎

𝟏

𝟎

=
𝝅𝟐

𝟒𝟖
𝑰𝟏 + 𝑰𝟐 − 𝑮𝑰𝟑 

𝑰𝟏 = ∫
𝟏

𝟏 + 𝒂𝟐
𝒅𝒂 = [𝐚𝐫𝐜𝐭𝐚𝐧(𝒂)]𝟎

𝟏 = 𝐚𝐫𝐜𝐭𝐚𝐧(𝟏) =
𝝅

𝟒

𝟏

𝟎

 

𝑰𝟐 = ∫
𝑳𝒊𝟐(𝒂)

𝟏 + 𝒂𝟐
𝒅𝒂

𝟏

𝟎

= ∑(−𝟏)𝒏∫ 𝒂𝟐𝒏𝑳𝒊𝟐(𝒂)𝒅𝒂
𝟏

𝟎

∞

𝒏=𝟎

 



 
𝑵𝒐𝒕𝒆𝒔: 

{
 
 

 
 ∫ 𝒙𝒏−𝟏𝑳𝒊𝟐(𝒙)𝒅𝒙 =

𝜻(𝟐)

𝒏
−
𝑯𝒏
𝒏𝟐

𝟏

𝟎

∑
𝒙𝒏

𝒏𝟐
𝑯𝒏 = 𝑳𝒊𝟑(𝒙) − 𝑳𝒊𝟑(𝟏 − 𝒙) + 𝐥𝐧(𝟏 − 𝒙)𝑳𝒊𝟐(𝟏 − 𝒙) +

𝟏

𝟐
𝐥𝐧(𝒙)𝒍𝒏𝟐(𝟏− 𝒙) + 𝜻(𝟑), |𝒙| ≤ 𝟏 

∞

𝒏=𝟏 }
 
 

 
 

 

𝑰𝟐 = ∑(−𝟏)𝒏∫ 𝒂𝟐𝒏+𝟏−𝟏𝑳𝒊𝟐(𝒂)𝒅𝒂 = ∑(−𝟏)𝒏
∞

𝒏=𝟎

𝟏

𝟎

∞

𝒏=𝟎

[
𝜻(𝟐)

𝟐𝒏 + 𝟏
−

𝑯𝟐𝒏+𝟏
(𝟐𝒏 + 𝟏)𝟐

] = 

= 𝜻(𝟐)𝐚𝐫𝐜𝐭𝐚𝐧(𝟏) −∑
(−𝟏)𝒏𝑯𝟐𝒏+𝟏
(𝟐𝒏 + 𝟏)𝟐

∞

𝒏=𝟎

=
𝝅𝟑

𝟐𝟒
− İ𝒎{∑

𝒊𝒏𝑯𝒏
𝒏𝟐

∞

𝒏=𝟏

} 

𝑵𝒐𝒕𝒆: {∑(−𝟏)𝒏𝒇(𝟐𝒏 + 𝟏) = İ𝒎{∑ 𝒊𝒏𝒇(𝒏)

∞

𝒏=𝟏

∞

𝒏=𝟎

}} 

𝑰𝟐 =
𝝅𝟑

𝟐𝟒
− İ𝒎{𝑳𝒊𝟑(𝒊) − 𝑳𝒊𝟑(𝟏 − 𝒊) + 𝐥𝐧(𝟏 − 𝒊) 𝑳𝒊𝟐(𝟏 − 𝒊) +

𝟏

𝟐
𝐥𝐧(𝒊) 𝒍𝒏𝟐(𝟏 − 𝒊) + 𝜻(𝟑)} 

𝑵𝒐𝒕𝒆𝒔: 

𝐥𝐧(𝟏 − 𝒊) = 𝐥𝐧(√𝟐(𝒄𝒐𝒔 (
𝝅

𝟒
)− 𝒊𝒔𝒊𝒏 (

𝝅

𝟒
))) =

𝟏

𝟐
𝐥𝐧(𝟐) + 𝐥𝐧(𝒆

−𝒊𝝅
𝟒 ) =

𝟏

𝟐
𝐥𝐧(𝟐) −

𝒊𝝅

𝟒
 

𝐥𝐧(𝒊) = 𝐥𝐧(𝒄𝒐𝒔 (
𝝅

𝟐
) + 𝒊𝒔𝒊𝒏 (

𝝅

𝟐
)) = 𝐥𝐧 (𝒆

𝒊𝝅
𝟐 ) =

𝒊𝝅

𝟐
 

𝑳𝒊𝟐(𝟏 − 𝒊) =
𝟑

𝟖
𝜻(𝟐) − 𝒊 (

𝝅

𝟒
𝐥𝐧(𝟐) + 𝑮) , 𝑳𝒊𝟑(𝒊) =

𝒊𝝅𝟑

𝟑𝟐
−
𝟑𝜻(𝟑)

𝟑𝟐
 

𝑰𝟐 =
𝝅𝟑

𝟐𝟒
+
𝝅

𝟏𝟔
𝒍𝒏𝟐(𝟐) +

𝑮

𝟐
𝐥𝐧(𝟐) − İ𝒎{𝑳𝒊𝟑(𝟏 + 𝒊)} 

𝑰𝟑 = ∫
𝒂

𝟏 + 𝒂𝟐
𝒅𝒂

𝟏

𝟎

, {𝐭𝐚𝐧−𝟏(𝒂) = 𝒕,  𝒅𝒕 =
𝒅𝒂

𝟏 + 𝒂𝟐
, 𝒕 [
𝝅

𝟒
, 𝟎] , 𝒂 = 𝐭𝐚𝐧(𝒕)} 

𝑰𝟑 = ∫ 𝐭𝐚𝐧(𝒕)𝒅𝒕 =

𝝅
𝟒

𝟎

− [𝐥𝐧(𝐜𝐨𝐬𝒕)]
𝟎

𝝅
𝟒 =

𝐥𝐧(𝟐)

𝟐
 

𝜴𝟑 =
𝝅𝟐

𝟒𝟖
𝑰𝟏 + 𝑰𝟐 −𝑮𝑰𝟑 =

𝝅𝟑

𝟏𝟗𝟐
+
𝝅𝟑

𝟐𝟒
− İ𝒎{𝑳𝒊𝟑(𝟏 + 𝒊)} +

𝝅

𝟏𝟔
𝒍𝒏𝟐(𝟐) +

𝑮

𝟐
𝐥𝐧(𝟐) −

𝑮

𝟐
𝐥𝐧(𝟐) = 

=
𝟑𝝅𝟑

𝟔𝟒
+
𝝅

𝟏𝟔
𝒍𝒏𝟐(𝟐) − İ𝒎{𝑳𝒊𝟑(𝟏 + 𝒊)} 



 

∫
𝐥𝐧(𝒙)(𝟏 + 𝐥𝐧(𝐱) + 𝐥𝐧(𝟏 − 𝐱))

𝟏 + 𝒙𝟐
𝒅𝒙 = 𝜴𝟏 + 𝜴𝟐 + 𝜴𝟑

𝟏

𝟎

=
𝟑𝝅𝟑

𝟔𝟒
+
𝝅

𝟏𝟔
𝒍𝒏𝟐(𝟐) − 𝑮 − İ𝒎{𝑳𝒊𝟑(𝟏+ 𝒊)} +

𝝅𝟑

𝟏𝟔
= 

=
𝟏

𝟔𝟒
(𝟕𝝅𝟑 + 𝟒𝝅𝒍𝒏𝟐(𝟐) − 𝟔𝟒𝑮− 𝟔𝟒İ𝒎{𝑳𝒊𝟑(𝟏 + 𝒊)}),𝑯𝒆𝒏𝒄𝒆 𝒑𝒓𝒐𝒗𝒆𝒅  


